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elk has a period T 2T so fa fi z cloakdivider

next add another divider onto Ci ka alky
and one on city 7 ilks
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hash wire is tithe of a 1 so look at the values

of the Bus that is made from the wires

B 3 o elks alky ilka elk

called a concatenation

130 0 1 01 01 0 1 01 01 0 1 010 1 0 10 1 01

BI 1 00 1 1 00 1 1 00 1 1 00 1 1 00 1 1 00 I 1

B2 1 1 I 0000 1 1 1 1 00 00 I 1 1 1 00 00 1 7

33 I 1 1 I 1 1 1 00 00 0000 1 1 I 1 I 1 1 1 00

14131211 109 876 5 Y 3 2 10 1514131211 10 9 8 76

BE o is a Yount down timer
if we want a count up time we inner B

B o c as o counts up
ex we have a 1 MHz clock and want to use

it to generate a pulse at 1 Hz not critical
if its 110 off 1 Hz

I MHz Ims period
1 Hz 1000msperiod so need 1,000 ticks of
the clock between pulses



if we make a lo bit countup
counter max would

be 210 1024 ticks before counter rollsover

decimal 1000 358 hex
I 1 I 1 1 01 0 00 binary

10 bit counter C 9 o

generate pulse when C 358 hex
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use
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Serial data

say you want to send data on a line serially so
I bit of info followedbyanother and infinitum
define a bit clock transitionbetween bits
between pusedgeof bit clock

belk

D I 0 0 1 I 0 I 0 0

data stream of bits groupinginto 4 bit groups
nibbles



need a wayto take these serial bits and form
4 b it words Q 3 03
it falias's bit clock ticks toget 1 4bit word

use a shift register

balk bit clock belie o Clk

Balk byte cloak
here Ibyte Ybits

o BakCla

3 Q2 Q1 GO

D
Balk

balk

black BFF's are called a shift register
we shift data into se w bilk
add red Def's w Bilk tomake

serial in parallel out shift register
SI PO


